Ne ApTHUKYI HamMeHOBaHME Koxn
12 Koynnmauexk CBeYHOMU 1
14 Cepeua 1
15 BuHT M5%20 10
16 llarBa 1
17 |HY-E58039 HDedbnexTop 1
18 BuHT M5x12 1
19 Hakmnanka 1
20 [IpokJjlamka ITJIYWUTEJIS 1
21 |HY-E58020 T'nymunTesb 1
22 arnba 2
23 BonT rmaymmTess M8x30 2
24 ByuT M5x12 1
25 |HY-E58044-set Ounuegp B cBope 25,27-31 1
26 [Ipokylagka LUMIMHIOPAa 1
27 |HY-E58046 Komnblo nopmHeBoOe 1
28 |HY-E58046 KosnpLO NOpPHHEBOE 1
29 |HY-E58050 [lopmweHs @48mm (27-31) 1
30 |HY-E58048 [Tajel NMOPWHSA 1
31 KonpLO CTONOPHOE 1
32 [TogUUIIHUK 1
33 Koneusan 1
34 |HY-E58010 lnoHka MaxoBUKa 1
35 MrudT 2
36 [Ipokylagka KapTepa 1
37 16202 HomumnHmk 6202 2
39 CapHUK 2
61 BuuT M5x16 2
62 [lnacTuHa 1
63 |HY-E5800S Kaprep (38,63) 1
64 |HY-E58032 CuenjeHue 1
67 |HY-E58035 BosT 2
* |HY-E58000 Habop npokJjamok

MoTob6yp 6eHBMHOBEIM

MomeJsb

GD-65-300

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

Page 1




Ne ApTHUKYI HamMeHOBaHME Koxn
1 T'avika—-0Oapalek 1
2 |HY-E586571 Kopnyc B® (1-3,6) 1
3 OUIIBTP BO3AYWHBIN 1
4 Buur M5x50 2
5 [ImacTrHa NPWXMUMHAS 1
6 Crolka OuIbLTPa 1
7 11430-004 KapbopaTop 1
8 [IpokJylamka KapbopaTopa 1
9 BuuT M5x30 2
10 |HY-E58056 TernJjon30JISTop 1
11 [lpokJylaika TeNJIoOU30JISTOopa 1
15 BuuT M5x20 10
38 |HY-E5800S Kaprep (38,63) 1
39 CanbHUK 2
40 BuuT M5x30 4
41 |HY-E58051 MarTHETO 1
42 [Iposoq 1
43 |HY-E58029 MaxoBUK 1
44 llamba 1
45 lamba 1
46 Tarika M10x1,25 1
47 |HY-E58001 Craprep 1
48 OUIBTP TONJIMBHEIM 1
49 llma"Hr TonymeHBEM 48-51 1
50 YnJIoTHEHME 1
51 lyaur, 1
52 ByuT M5x25 1
53 |HY-E58012 Bak TONJMBHEM B cbOope 1
54 Brynka 1
60 IIpoBbxka 55-60 1
Monmerib
MoTobyp 6eHBMHOBEIM GD-65-300
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 2




Ne ApTHUKYI HamMeHOBaHME Kon
1 |HY-GD5GO1 Jamka CLelJIeHUd 1
2 |HY-GD5G02 HommmnHMK R12RS 1
3 |HY-GD5GO03 Bas c mecTepHen 1
4 |HY-GD5G04 Kopnyc penykxTopa 1
5 |HY-GD5GO05 [IpokJjlamka pelyKTopa 1
6 |HY-GD5GO06 HommmnHmMk 6905RS 1
7 |HY-GD5GO07 llecTepHa penykKToOpa 1
8 |HY-GD5G08 HommmnHmMK R10 1
9 |HY-GD5G09 Kopnyc penykTopa 1
11 |HY-GD5G11 AMOPTHU3ATOP 1
16 |HY-2013GD76 Kypok rTaza 1
17 |HY-GD5G17 Ban pemykTopa 1
18 |HY-GD5G18 Homumnumk 6004RS 1
19 |HY-GD5G19 CanbHMK pelyKTopa 1
20 |HY-GD5G20 liTyuep 1
21 |HY-GD5G21 Homumnumk 6004RS 1
24 |HY-GD5G24 llecTepHsa penykTopa 1
25 |HY-GD5G25 Homumnumk R10 1
26 |HY-2013GD86 Pyuka npasasd 1
27 |Pin-DDE-as MrudT 1
28 |HY-2013GD88 OcHOBaHME penykTopa 1
29 |HY-2013GD89 Pyuka JneBasa 1
* |HY-2013GD-Gset PenykTop B CbOOpPE

** |HY-2013GD7376 Pyuxka raz3a (13,14,15)

MoTob6yp 6eHBMHOBEIM

MomeJsb

GD-65-300

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT,

USA

| Page 3




